SuMPO SUMPO EPD SuMPORIESAILTOTF s

E P D _ —MREREAY AT F IR S HEEAE
|EPD 54FNBAEE (EPD) s 3
VERIFIED KANDA SQUARE GATE

E#ES © JR-AI-25432E https://ecoleaf-label.jp

FUJIHILM

Value from Innovation

BEOAWVL EVRZX A/NR-Va R E’
FUJIFILM Business Innovation Corp.

A3 £/ ODOEEH

o A3 Monochrome Multifunction Printer
¢ Apeos 3060 (Model-CPS-B)
R A (for US)

Apeos. Apeos 00, ApeosPro. ApeosPort . B&U ApeosPrint (&, ELIMIVAEIRZAA INR—S KRS OB HREIEFAEIZETT,

HEHNL ERES JR-AI-25432E
P EFAPCRES  pPA-590000-Al-08
PCR#% G N PAL;: 21
HE X SRR NEGS! 2026238 13H
5387 O] eh R Bt RIEEEE 202642/ 24
OREMEERE QEE Q@B OfEF - REEA VAT LEREAEA
®FEE- Y1 RAES 2025-FB-EL-100

HBEEE#hEAR 2031428 23H
PCRLEI-DEE
ZEHZ 2023498 1H

HEoRN, TEMEKR-FET
itk : Apeos 3060 (Model-CPS-B)

FEMLER  B/J0EEHE EPA)
ENRIZRE : £/70 30ppm (A4 LEF)
RAABYAZ 1 A3, 11 x 17"
TUYN/IE=/ZF v

0 I ED R B /ADF (R T8 B 31554 )

ZER i B2

(FFIE — AL EEAY AT F IIAE EHEEH)
E=ERIE BENT
SERIRELE

ISO14025(CE 1A E B R U7 -5 DIMILLIAREE

O ER WALER
VAT LRAEZ I B EAORIEDH A, YATLRIETLEEED
ZRTEE

FMuahth BEIANIWALESRRAAINR—3 kAt

EEMAX AR EHFSV6THIE
https://www.fujifilm.com/fb/

BixES © JR-AI-25432E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

E P D - _ —AEEAY AT IR S HEERE
o pEFY FL4TNIBIBEES (EPD) ERATREXPAME1-14-8
AT KANDA SQUARE GATE
BEiFES JR-AI-25432E https://ecoleaf-label jp
1TV EFMmIER
o . . fEF - HEFF
X
SIEZEE - A5 kg-CO2eq 4.10E+02 1.61E+01 8.87E+01 1.50E+02 6.49E+01
AV BHIR kg-CFC-11eq 3.78E-05 2.59E-08 1.71E-08 3.75E-06 8.14E-09
EREL kg-PO43-eq 8.76E-03 1.87E-04 8.21E-05 4.07E-03 7.68E-05
724 kg-SOzeq 1.09E+00 1.15E-01 1.06E-01 5.76E-01 6.50E-02
HALZAFII I kg-CzHieq 9.10E-03 1.13E-05 7.05E-04 1.41E-03 5.50E-04

S1TH1IIWAIRY B 3 REEE R
—REROERCET51E1R

FRBERE | EeE | hasm ﬁz'::ﬁ BB
BAAgE—RER - IRILF- (RPRE) M) 7.94E+02 1.46E+02 4.63E+00 5.83E+02 2.49E+01
BAATRE—REIR - IRIF-2BME (RPRy) M) 9.69E+00 2.39E-03 1.09E+02 6.56E+02 5.44E-03
FEFERHE—RER - Ir)F— (NRPRy) M) 6.62E+03 5.81E+02 9.91E+02 3.17E+03 3.36E+02
JEFETE—RER - IRVE-2BME (NRPRy,) M) 8.15E+02 1.84E-01 2.66E+00 1.81E+02 5.18E-02
RKDEEE m3 2.36E+00 9.59E-03 1.15E+01 6.92E+01 4.79E-03

HERERICETBEMIEHR
KEERGEELTEELELE,
EAHEPHR)DIEREYFUATEELTVET,
- ROEEEARMESEMTY,
{EA - IS ERBE LB T RERIAROA T EEENEEA.
(EARBOEAE, IRINF-AY-T0I54Ver.3.2 BE(SR>THELETECEETICEE LELE,
R EENRIMEL (L, 135,0000TF,
1/4 x 30 (YaJ/B) x 15(#) x 5 (B) x4 (B) x 12 (v A) x 5 (£) = 135,0004%

ZD 1 DIREREEIR
IRNF-RF-T0Y5LVer3.2 BE,

MRBLUMEICEIS 3RS BEEVEICEIZIER

El-E (ERBS) By 15H CAS No. ESE
@ 25 kg - - -
Sus 0.18 kg - - -
FIVIZUL 0.12 kg
ZotEE 3.0 kg ERALEZRT-YDEXS
T3AFvY 21 kg [REAI(E, LCIT-9R-IDEA Ver.3.4, SUMPORE SN TOIS L& FT -
) Ver.1.16&fERLTVET,
N 0.39 kg
A5 1.9 kg
EREEEAM 1.9 kg -
pa i 2.5 kg
Z0ft 2.1 kg

@T-YEEDHEL. PCRELUVEE - ESHEESBL TR,
OLLRIOVTR, BE - EERBICREINLRGLRLLIISEICLIARYONEEA,
(BEBSURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

